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Multiple choice: Cirele the correct answer.
(Khoanh tron dap an diang).
1. Choose the correct symbol: (Chon diu phit hop)
A, 65 |56
@ - B - n-
h. 9+ 8 2x9
B - B - B

2. Count: (Tinh)

B, IXT = anensis

B B B
_ El Bo (L :

3. Arrange the numbers from least to greatest: 92 : 19: 62 : 29
{S:ip xép ¢ic so theo thir tr tir bé dén ldm)

B o2:62:29;19

B 9296292

B 19:62:29:92



4. Which picture is quadrangle? (Hinh nao Ia hinh t@r gidac?)

" A

5. Match: (N6i)

4
(4+4+4+4+4> ﬂ | 3!5/}
( 5+5+5 } H 5x4

6. Calculate vertically: (Bt tinh doc)
a.lll+3li b.77+9 c. 92 -60 d. 62 -45

ﬂ | |

| L L L
| L bdwnilordd |
| _HLJ 11 ELIL] [ ]

7. Calculate the perimeter of the shape below:

(Tinh chu vi cua hinh bén durdi)

I |
§ ? Illl-l-lrll'l'llllllllli"'l'llllll‘li'l"illllli'l+I‘llllllli‘il‘lllll.lllll

y Chu vi cia hinh tam gidc Ih+4:.
5cm
8. Count: {Tiih}_ -
a, ﬁx5+33=L.“...J h.3ll—ﬁ=¢3=|+...i‘

9. Choose the two triangles with the same pattern.

(Chon 2 hinh tam gide ¢6 hoa tiét gidng nhau):
/A A /I e /m A
B, 8,
/oA /am

A ./L
,A(&:m. Ai m ffﬁ\




10.Find the missing numbers: (Dién s6 thich hop)

A 72 - o= 36 b. 18 + ... =40

. } -9=82 d.| ni5=1

%Y

11. Mt chife xe 6 td c6 4 banh xe. Hoi 6 chiée xe 6 td ¢6 tit ci bao

nhiéu bianh xe?

EER

Tra livi: 6 chiéc xe 6 th cH

Hét
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